Log, [& 1 Eis 5iy[__11 :=
Module|{e, k, n, G, c, g, eqn, Sanify, MI
(¥multi-index«), mis, mi, yax, p, q},
G=TUis,giy[C1ai +C2X1Yi]5
eqn = U21[Last [Exp,[G]] - S[111];
{egn, G} =
CF /@
({ean, G} /.
First@Solve[Coefficient[eqn, a;] == 9, c1]);
Sanify[{{v_->s_}}] :=
v - PowerExpand [Normal[s] /. c - @];
G =
CF[
G /. Sanify@Solve [Coefficient[eqn, X; y;] = 0,
c211s
G[1] +=Co + C1 X; + C2 Yi5
eqn = U21[Last[Exp,[G]] - S[111;
{egn, G} =
CF /@
({eqn, G} /.
First@Solve[Coefficient[eqn, X;] == 0O A
Coefficient[eqn, y;] == 9, {c1, C2}1);
G =G /. FirsteSolve[eqn = 0, cg];
MI /: Coefficient[e , MI[p , n ,q 1] :=
Coefficient [Coefficient[Coefficient[e, y;, p],
ai, n], Xi, q1;
yax /: yax"[[P-s"»d-1 oo y2 gl 5,
Do|[
mis = FlatteneTable[MI[p, n, q], {n, @, k+1},
{p, @, Min[k +1, 2k+2-2n]},
{9, @, Min[k+1, 2k+2-2n-p]}];
AppendTo[G, Sum[gy; yax™, {mi, mis}]];
eqn = U21[Last[Exp,[G]] - Sk +1]1];
G =
CF[
G/.
First@Solve[Table[Coefficient[eqn, mi] == O,
{mi, mis}], Table[g,;, {mi, mis}]1],
{k, Length[5] - 1}];
CF[12UeG]

]



